LOT	QTY	DESCRIPTION
1		6239392 PACK OF CCA TREATED PINE TIMBER DECKING/SCREENING MERCH GRADE 90 X 22 MM 38 LENGTHS @ $5.4 = 205 \text{ L/M}$
2		6239393 PACK OF CCA TREATED PINE TIMBER DECKING/SCREENING MERCH GRADE 90 X 22 MM 12 LENGTHS @ $6.0 = 72$ L/M
3		6239409 PACK OF CCA TREATED PINE TIMBER DECKING/SCREENING MERCH GRADE 90 X 22 MM 72 LENGTHS @ $3.6 = 259 \text{ L/M}$
4		X3531 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 70 X 35MM 20 LENGTHS @ 3.6 = 72 L/M
5		6238727 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 70 X 35MM 45 LENGTHS 6/2.4,2/3.0,4/3.6,31/4.2,1/4.8,1/6.0 = 176 L/M
6		X3557 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 70 X 35MM 60 LENGTHS @ 5.4 = 324 L/M
7		P86625 PACK OF CCA TREATED PINE TIMBER MERCH GRADE SAWN 150 X 38 MM, 42 LENGTHS @ 6.0 = 252 L/M
8		H5040 PACK OF CCA TREATED PINE TIMBER MERCH GRADE SAWN 150 X 25 MM, 48 LENGTHS @ 6.0 = 288 L/M
9		6224365 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 140 X 35MM 22 LENGTHS 12/3.0,7/3.6,3/4.2 = 74 L/M
10		X3331 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 140 X 35MM 53 LENGTHS 1/2.4,51/3.0,1/3.6 =159 L/M
11		X3366 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 140 X 35MM 25 LENGTHS 14/3.0,4/3.6,7/4.2 = 86 L/M

LOT	QTY	DESCRIPTION
12		D06539 PACK OF CCA TREATED PINE TIMBER DECKING/SCREENING MERCH GRADE 90 X 22 MM 8 LENGTHS @ 3.6 = 29 L/M
13		D06541 PACK OF CCA TREATED PINE TIMBER DECKING/SCREENING MERCH GRADE 90 X 22 MM 22 LENGTHS @ $3.0 = 66$ L/M
14		6233022 PACK OF CCA TREATED PINE TIMBER DECKING/SCREENING MERCH GRADE 90 X 22 MM 53 LENGTHS @ 3.6 =191 L/M
15		D06542 PACK OF CCA TREATED PINE TIMBER DECKING/SCREENING MERCH GRADE 90 X 22 MM 29 LENGTHS @ $4.2 = 122 \text{ L/M}$
16		D06540 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 90 X 45MM 50 LENGTHS, 8/2.4 =19 L/M
17		6236681 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 140 X 35MM 22 LENGTHS 6/3.0,3/3.6,13/4.2 = 83 L/M
18		6236685 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 140 X 35MM 60 LENGTHS 16/4.8,12/5.4,32/6.0 = 333 L/M
19		H5026 PACK OF CCA TREATED PINE TIMBER MERCH GRADE SAWN 100 X 100 MM, 45 LENGTHS @ 2.4 = 108 L/M
20		H5027 PACK OF CCA TREATED PINE TIMBER MERCH GRADE SAWN 100 X 100 MM, 45 LENGTHS @ 2.4 = 108 L/M
21		6237219 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 70 X 35MM 60 LENGTHS @ 3.0 = 180 L/M
22		6237208 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 70 X 35MM 136 LENGTHS @ 3.0 = 408 L/M

LOT	QTY	DESCRIPTION	NOTE
23		6235594 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 140 X 45MM 39 LENGTHS 7/3.0,12/3.6,20/4.2 = 148 L/M	
24		X3526 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 140 X 45MM 10 LENGTHS @ 3.0 = 30 L/M	
25		X3525 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 190 X 45MM 11 LENGTHS @ 3.0 = 33 L/M	
26		6238474 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 140 X 45MM 13 LENGTHS 6/3.6,7/4.2 = 51 L/M	
27		6238476 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 140 X 45MM 19 LENGTHS 18/4.8,1/5.4 = 92 L/M	
28		6238533 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 120 X 45MM 23 LENGTHS 2/3.6,4/4.2,4/4.8,7/5.4,6/6.0 = 117 L/M	
29		X3495A PACK OF CCA TREATED PINE TIMBER MERCH GRADE 140 X 45MM 18 LENGTHS @ 3.6 = 65 L/M	
30		6236775 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 70 X 45MM 57 LENGTHS 9/2.4,2/3.0,14/3.6,30/4.2,1/4.8,1/6.0 = 215 L/M	
31		6236836 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 120 X 45MM 13 LENGTHS @ 4.8 = 62 L/M	
32		6236833 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 120 X 45MM 17 LENGTHS 1/2.4,5/3.6,11/4.2 = 67 L/M	
33		6235879 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 140 X 35MM 29 LENGTHS @ 4.8 = 139 L/M	

LOT	QTY	DESCRIPTION
34		H4942B PACK OF CCA TREATED PINE TIMBER MERCH GRADE SAWN 100 X 38 MM, 112 LENGTHS @ 6.0 = 672 L/M
35		6237179 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 70 X 35MM 135 LENGTHS @ 3.6 = 486 L/M
36		6228456 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 140 X 35MM 70 LENGTHS 3/2.4,24/3.0,20/3.6,23/4.2 = 248 L/M
37		X3520 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 120 X 35MM 11 LENGTHS @ 4.8 = 53 L/M
38		6237213 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 70 X 35MM 45 LENGTHS @ 5.4 = 243 L/M
39		WD0664 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 140 X 35MM 7 LENGTHS 1/2.7,6/3.0 = 20.7 L/M
40		WD0663 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 140 X 35MM 70 LENGTHS 1/2.7,69/3.0 = 210 L/M
41		6221645A PACK OF CCA TREATED PINE TIMBER DECKING/SCREENING MERCH GRADE 90 X 22 MM 120 LENGTHS @ 3.6 =432 L/M
42		*** VACANT ***
43		6237223 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 70 X 35MM 19 LENGTHS @ 3.6 = 68 L/M
44		X3416 PACK OF CCA TREATED PINE TIMBER DECKING/SCREENING MERCH GRADE 90 X 22 MM 13 LENGTHS @ 2.4 = 31 L/M
45		6221255A PACK OF CCA TREATED PINE TIMBER DECKING/SCREENING MERCH GRADE 90 X 22 MM 19 LENGTHS @ $3.0 = 57$ L/M

LOT	QTY	DESCRIPTION
46		6228158 PACK OF CCA TREATED PINE TIMBER DECKING/SCREENING MERCH GRADE 90 X 22 MM 34 LENGTHS @ $3.0 = 102 \text{ L/M}$
47		6226527 PACK OF CCA TREATED PINE TIMBER DECKING/SCREENING MERCH GRADE 90 X 22 MM 24 LENGTHS @ 3.0 =72 L/M
48		6225572A PACK OF CCA TREATED PINE TIMBER DECKING/SCREENING MERCH GRADE 90 X 22 MM 40 LENGTHS @ $3.0 = 120 \text{ L/M}$
49		6223031 PACK OF CCA TREATED PINE TIMBER DECKING/SCREENING MERCH GRADE 90 X 22 MM 22 LENGTHS @ 3.0 =69 L/M
50		71314A PACK OF CCA TREATED PINE TIMBER MERCH GRADE 140 X 35MM 20 LENGTHS @ 3.0 = 60 L/M
51		X3529 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 140 X 45MM 16 LENGTHS @ 3.0 = 48 L/M
52		X2807 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 140 X 35MM 28 LENGTHS @ 3.0 = 84 L/M
53		X2823 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 140 X 35MM 67 LENGTHS @3.0 = 201 L/M
54		DGX2371 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 140 X 35MM 39 LENGTHS @ 3.0 = 117 L/M
55		X3508 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 140 X 35MM 62 LENGTHS @ 3.0 = 186 L/M
56		X1837 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 140 X 35MM 70 LENGTHS 2/2.4,65/3.0,2/3.6,1/4.8 = 212 L/M
57		6237217 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 70 X 35MM 80 LENGTHS @ 2.4 = 192 L/M

LOT	QTY	DESCRIPTION
58		6237195 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 70 X 35MM 140 LENGTHS @ 2.4 = 336 L/M
59		6237174 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 70 X 35MM 129 LENGTHS @ 3.0 = 387 L/M
60		6235832 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 70 X 19MM 100 LENGTHS 21/4.8,7/5.4,72/6.0 = 570 L/M
61		6235833 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 70 X 19MM 100 LENGTHS 28/4.8,11/5.4,61/6.0 = 560 L/M
62		6235827 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 70 X 19MM 100 LENGTHS 1/2.7,7/3.0,21/3.6,70/4.2,1/4.8 = 398 L/M
63		X3412 PACK OF CCA TREATED PINE TIMBER DECKING/SCREENING MERCH GRADE 90 X 22 MM 26 LENGTHS @ $3.0 = 78$ L/M
64		6223183 PACK OF CCA TREATED PINE TIMBER DECKING/SCREENING MERCH GRADE 90 X 22 MM 19 LENGTHS @ $3.6 = 68$ L/M
65		6237482 PACK OF CCA TREATED PINE TIMBER DECKING/SCREENING MERCH GRADE 90 X 22 MM 112 LENGTHS @ $4.2 = 470 \text{ L/M}$
66		6237478 PACK OF CCA TREATED PINE TIMBER DECKING/SCREENING MERCH GRADE 90 X 22 MM 28 LENGTHS @ 4.8 =134 L/M
67		6237473 PACK OF CCA TREATED PINE TIMBER DECKING/SCREENING MERCH GRADE 90 X 22 MM 120 LENGTHS @ 4.8 =576 L/M
68		6238314 PACK OF CCA TREATED PINE TIMBER DECKING/SCREENING MERCH GRADE 90 X 22 MM 120 LENGTHS @ $4.8 = 576$ L/M

LOT	QTY	DESCRIPTION
69		6238307 PACK OF CCA TREATED PINE TIMBER DECKING/SCREENING MERCH GRADE 90 X 22 MM 54 LENGTHS @ 5.4 = 292 L/M
70		6233756 PACK OF CCA TREATED PINE TIMBER DECKING/SCREENING MERCH GRADE 90 X 22 MM 32 LENGTHS @ 3.0 =96 L/M
71		6234320 PACK OF CCA TREATED PINE TIMBER DECKING/SCREENING MERCH GRADE 90 X 22 MM 39 LENGTHS @ $3.0 = 117 \text{ L/M}$
72		6238320 PACK OF CCA TREATED PINE TIMBER DECKING/SCREENING MERCH GRADE 90 X 22 MM 117 LENGTHS @ 3.6 = 421 L/M
73		6238316 PACK OF CCA TREATED PINE TIMBER DECKING/SCREENING MERCH GRADE 90 X 22 MM 67 LENGTHS @ $4.2 = 281$ L/M
74		6236277 PACK OF CCA TREATED PINE TIMBER DECKING/SCREENING MERCH GRADE 90 X 22 MM 63 LENGTHS @ 5.4 =340 L/M
75		6237462 PACK OF CCA TREATED PINE TIMBER DECKING/SCREENING MERCH GRADE 90 X 22 MM 52 LENGTHS @ 5.4 =281 L/M
76		6238306 PACK OF CCA TREATED PINE TIMBER DECKING/SCREENING MERCH GRADE 90 X 22 MM 53 LENGTHS @ 6.0 =318 L/M
77		6238279 PACK OF CCA TREATED PINE TIMBER DECKING/SCREENING MERCH GRADE 90 X 22 MM 120 LENGTHS @ 6.0 =720 L/M
78		X3491 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 70 X 45MM 26 LENGTHS @ 2.4 = 62 L/M
79		X3544 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 140 X 45MM 24 LENGTHS @ 3.0 = 72 L/M
80		X3522 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 140 X 45MM 11 LENGTHS 1/2.4,6/3.0,1/3.6,3/4.2 = 37 L/M

LOT	QTY	DESCRIPTION
81		6237152 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 70 X 35MM 30 LENGTHS 3/3.0,7/3.6,20/4.2 = 118 L/M
82		6239355 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 120 X 45MM 16 LENGTHS 6/3.6,9/4.2,1/4.8 = 64 L/M
83		6239006 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 90 X 45MM 26 LENGTHS 8/3.6,18/4.2 = 104 L/M
84		X3534 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 140 X 35MM 12 LENGTHS @3.6 = 43 L/M
85		6238957 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 190 X 45MM 6 LENGTHS 2/3.0,1/3.6,3/4.2 = 22 L/M
86		6238813 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 90 X 35MM 47 LENGTHS 1/3.6,4/4.8,34/5.4,8/6.0 = 254L/M
87		6239111 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 140 X 45MM 6 LENGTHS 1/3.6,5/4.2 = 25 L/M
88		6239315 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 190 X 45MM 18 LENGTHS @ 4.2= 76 L/M
89		6239117 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 140 X 45MM 15 LENGTHS 12/4.8,3/6.0 = 76 L/M
90		6239495 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 190 X 45MM 23 LENGTHS 1/4.2,1/4.8,4/5.4,17/6.0 = 133 L/M

LOT	QTY	DESCRIPTION
91		6238027 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 70 X 45MM 26 LENGTHS 4/2.4,3/3.0,10/3.6,9/4.2 = 92 L/M
92		6238100 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 90 X 45MM 15 LENGTHS 1/3.0,8/3.6,6/4.2 = 57 L/M
93		6237420 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 90 X 45MM 11 LENGTHS 6/3.6,5/4.2 = 43 L/M
94		6238023 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 70 X 45MM 29 LENGTHS 1/4.8,3/5.4,25/6.0 = 171 L/M
95		6237415 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 90 X 45MM 50 LENGTHS 10/4.8,8/5.4,32/6.0 = 283 L/M
96		6236776 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 70 X 45MM 135 LENGTHS 26/4.8,12/5.4,39/6.0 = 424 L/M